Section 4-6 Inverse Trigonometric Graph

Remember the graph of y =cos x It is not one-to-one but we could restrict the domain to

Otom so that it is one-to-one. Therefore, the inverse is

y=cos" X meaningx = cosy
where -1<x<1 and Osyswx
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Remember the graph of y=sinx It is not one-to-one (fails horizontal line test) but we could
restrict the domain to —gmﬁ so that it is one-to-one.
Therefore, it would have an inverse function.

y=sin"'x meaningx=siny
where-1<x<1 and —%sysﬁ
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Remember the graph of y = tan x It is not one-to-one but we could restrict the domain
{ l i to _325,01;_ so that it is one-to-one. The inverse is

i
: y=tan" x meaning X =tan y
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y= sec”' x means x = sec y
where [x|>1 and O=sys=sam :
y=csc”' X means X =g5¢y

<

y=cot™ x means X =coty
where —o<x <o and O£Ly=gmw
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